H |EH T F = TR
1| A

2 | B |[IREKEH

3 | X 15:35
4 KB E IR 15:35
5 | & 15:35
6 | & 15:35
7 +

8 | H

9 | B 15:35
10 | X 15:35
11 | 7k 15:35
12 | K |[REES EMEIJLASTR EEFHER 13:45
13| & 15:35
14 | £

15 | B

16 | A 15:35
17 | X 15:35
18 | 7« 15:35
19 | K 15:35
20 | & 15:35
21 | £

22 | B

23 | B |BEXRs (F&) 15:35
24 | & 15:35
25 | K |#RERX KEKR BE1J4STKR 13:45
26 | K |R=HKEBR %A

27 | &

28 | £

29 | B

30 | A

31 | &

| [2AZooFE] XEER 12A128(K)., 25H(K)
12A128(K).... REES
' 128188 (K)... . EEMEH
| MERBESIL. 11/5 0 TRBINTVEBHOEZ ZTER I L,
(1B E4FE] XAEMEE 18 8H ()
18226 (K)...... . BEEZ
|  1A23H(K).... RESH(EEH)
18248 (®)... BESEB(2FF)
1A278(A)... REAKREH(EZFHF)
| %28 1B(H)... SRLEERTE, REBM) X7 —AAZEHFHY, HRLL (BRAHFD)



